L3(9) (mod 13)
blocks | defect matrix blocks | defect matrix
G: 1 1 7x3 31 0 72821 = X60; ¥33
2 0 911 = x3,3 32 =31 0 72892 = X61, P34
3 0 Iy = X4, ¢4 33 0 | 72823 = X62, %35
4 =3 0 913 = X5,¥5 34 = 33 0 72824 = X63; P36
5 0 914 = X6, 6 35 | 0| 72825 = Xe4, P37
6=5 0 915 = X7,¥7 36 = 35 0 72826 = X655 P38
[ 0 916 = xs, ¥s 37 | 0| 72897 = Xe6, P39
8=7 0 917 = X9, %9 38 =37 0 72828 = X675 P40
9 1 13x1 39 0 72829 = X685 P41
10=9 1 13x1 40 = @ 0 72830 = X69; P42
11 0 7281 = X40, P13 41 | 0 | 72831 = X70, P43
12 0 7285 = X41, P14 42 =41 0 72832 = X71, Paa
13 0 7283 = X42, P15 43 0 72833 = X712, P45
14 0 7284 = X43, P16 44 =43 0 72834 = X73, P46
15 0 7285 = X44, P17 45 | 0 | 72835 = X74, a7
16 =15 0 7286 = X45, P18 46 = 45 0 72836 = X175, P48
177 0 7287 = X46,¥19 47 0 8191 = X717, P49
18 =17 0 7288 = X47, ¥20 48 0 8192 = X178, ¥50
19 0 7289 = Xas, P21 49 =48 0 8193 = X79, P51
20=19| 0 | 72810 = x49, P22 50 |0 8194 = Xs0, 52
21 0 72811 = X50, P23 51 =50 0 8195 = X81, P53
22=21| 0 | 72812 =x51,p2 52 | 0 8196 = Xxs2, 54
23 0 72813 = X52, P25 53 = 52 0 8197 = Xxs3, ¥55
24 =23 0 72814 = X53, P26 54 0 9101 = x84, ¥56
25 0 72815 = Xs54, P27 55 0 9102 = X85, 57
26 =25 0 72816 = Xs55, P28 56 0 9103 = Xs6, P58
27 0 72817 = X56, P29 o7 0 9104 = x87, ¥59
28 =27 0 72818 = X575 P30 58 = 57 0 9105 = X88; ¥60
29 |0 | 72819 = X58, 931 59 |0 9106 = Xx89, P61
30 =29 0 72820 = X59, P32 60 =5 0 9107 = Xx90, 62
Block 1: | o1 @2 10
Li=xa| 1 .
90, = X2 1 1 . pr = 14
6403 = x12 1 g2 = 8%
6404 = x13 1 P10 = 640,
6405 = X14 1
6406 = X15 . . 1
7291 = X176 . 1 1




Block 9: | ¢11
6401 = XlO 1
6407 = X16 1
64010 = Xx19 1
64011 = x20 1
64014 = x23 1
64015 = X24 1
640158 = x27 1
64019 = x28 1
64022 = x31 1
64023 = x32 1
64026 = X35 1
64027 = x36 1
64030 = x39 1

Block 10: | 12

6402 = X11 1

6408 = X17 1

6409 = X18 1
64012 = x21 1
64013 = x22 1
64016 = Xx25 1
64017 = x26 1
64020 = X29 1
64021 = 30 1
64024 = X33 1
64025 = X34 1
64028 = x37 1
64029 = X33 1
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6404

6403



